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ECONOMICS

( Honours )

Paper : ECO-HC-3026
( Intermediate Macroeconomics—I )

Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer any ten from the following as
directed : 1x10=10

wors R o[ R @ v AR Tes
e

(a) What is aggregate demand?
ST v 2

(b) Express effective demand in a four-
sector system.

IR Refy ~&fos Ay sz oF 341 |
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(2)

(¢) What is open economy?

& A &2

(d) Mundell-Fleming model assumes that
capital is

owet-GFRR WS T o T
(i) perfectly mobile
Srojefaeel ver o1
(i) perfectly immobile
Spjefice] e {251
(iiij) imperfectly mobile
SPTJARCe! Do (201

(Choose the correct option)

(um Rewc Afk Tferean)

(e) What is the shape of long-run Phillips
curve?

Teferae Rferom, @¥H WS @12

() The aggregate supply function at full
employment is

o fcet SRETS A oM Fowco! 2
() more elastic
i ffowe e
A23/179 ( Continued )

(3)

(ii) less elastic
3% ffegee
(iii) pérfectly inelastic
Sl SRoRe
(Choose the correct option)

(o Rt R Sfered)

(g9 Who developed the purchasing power
parity theory?
2 T ST SgC! (I Bite e 2

(h) Define asset market.
o qERa i |

() What is Capital Account in Balance of
Payment (BoP)?

e e e ot 2
() At the point of effective demand
e vifter R
(i) aggregate demand = aggregate
supply

e v = A e

(i) aggregate demand > aggregate
supply
e viRa > A Qe
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(4

(i) aggregate demand < aggregate

(5)

supply () The natural rate of hypothesis involves
SR IR < TNET e Tl 2199 SAIC WPS T
(iv) Both (i) and (iii) (i) adaptive expectation
(i) S (i) ToF wfefere o
(Choose the correct option) (ii) rational expectation
qfes o

(W= s IR Sferean)

(k) Supply inflation is caused by
G AR TR 2%
(i) wage push
TGRI @51
(i) mark-up pricing
T -S1% Io7

(iii) profit push

(iiij) Both (i) and (i)
(i) == (ii) T=H
(Choose the correct option)

(e TRscol AR Tferean)

(m) Write one measure to control cost-push

inflation.

e qEre e R o1 Ty ford |

(n) Mention the I-S components of
Mundell-Fleming model.

TeA-GRe I ey -RFGAR TAMECTE

ST (2B
: OEd 41|
(iv) All of the above
@ SHRER (o) Define arbitrage in international
payment.
(Choose the correct option) RS TS RGeS .
% REor
( R Tferean) (p) Whatis international financial market?
A23/179 S R aE &2
{ Continued )
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(6)

(@) Write one criticism of effective demand

e o1RAA Bt FCaSAT fors

(r) The concept of foreign trade multiplier

was developed by

(Rt e BT 4I9eNICH SRS PR

() R. F. Khan
Y. 9%, 9

(i) J. M. Keynes
@ €. @GR

(i) Samuelson

CRYCHTRA

(Choose the correct option)

(wm RIwchT AR Sferean)

2. Answer any five from the following :

TS fRICAIS =1 R e #fvba Tew iy

(@) What is Eurocurrency market?

T 9 To 2

2x5=10

(b) Define natural rate of unemployment

R e 2 sigeat ey |

c) oW i
() What is meant by mark-up inflation?

STt PRI s e 2

A23/179
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(@)

()

(9)

()

()

0)
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(7)

Write the reasons for inverse

relationship between inflation and
unemployment. :

mewﬁﬁﬁﬂw@ﬁ
TR o |

Mention two assumptions of Mundell-
Fleming model.

se- gt S ot el el

Define effective demand.

wfepy v ke A |

What are the determinants of

equilibrium rate of interest?

W?ﬁ'wﬁmﬁﬁﬁfﬁm

In what way expectation influences the
rate of exchange?

ooy e 40 TS T IS T 7

Mention two limitations of adaptive
expectation.

oS 2o 6! TaRae! SCEs 41 |

What is foreign trade multiplier?

e e @ 7
(TumOver)




(9)

(8)
3. Answer any four from the following : = () What are the prerequisites of Keynesian
g: 5x4=20
woT AR [T R @I SR Tes fa - theory?
' oo ogd eTR 3 &2

(a) Explain briefly the monetary approach

to Bal :
ance of Payments (BoP). (g What is aggregate supply? How does

G SO} (BoP) J4Ior® 5@@@3 B aggregate supply curve determine in
' Keynesian economics?

B 70 AT |
st @ 87 @F0S weRifes AT
st @31 s e F =2

i‘ () Write a note on  Dornbusch’s
overshooting model.

THPY GSRpe: SIfEGE er/e @b (G

(h) Explain the concept of demand-pull

inflation.

fer 1

| (c) Distinguish between spot and forward " i S B s
exchange rate.
=6 qF FTRE R[fTw w9 Tme oqefe : 4. Answer any four from the following : 10x4=40
Crgsal | wwwﬁmmﬁ%ﬁwﬁm:

(d) ?Srieﬂy _explain the components of (@) | What i§ ra.te of exchar.lge?. Explain the
international financial market. determination of equilibrium rate of
wefes R o= sxehares i

; TR B T e
9 | Ry =9 fe 2 s R 29 e
39 =, I AN

(e) How : does natural rate hypothesis
exlple?m Fhe unemployment-inflation (b) Explain critically the rational
relationship? expectation hypothesis.

e AOTTR ST ST I

AProF T Hea(le WT i W
TGS (PO 36T 3, fora | i T 79 |
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()

@)

(e)

(9
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(10)

Explain the asset market approach to
determine exchange rate.

Wmﬁnﬁz%%mmq@%@'

AR A0

Establish the relationship between
foreign trade multiplier and marginal
propensity to import.

e ARER @ W Afee ST
PRE W& F=oFCH1 B 41 |

Discuss the Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed exchange rate with perfect
capital mobility.

Sopef BEEE YR OO o Rv z9©
ToF- e (NI T TERES T SSCO!
BINIES RN

Discuss the determination of
equilibrium  level of employment
through effective demand.

Sy iR wface S A sl R
LR T =, HCEm F90 |

Examine the police effectiveness of
Phillips curve.

oo @I Moare FRFR®! = 741 |

( Continued )

(1)

(h) Explain the purchasing power parity

0)

A23—4500/179

theory of exchange rate.
R 2793 T HIOR O] TGO M 7 |

Explain the determinants of aggregate
demand.

ST SR TR T 40 |

Explain the factors ‘that cause
fluctuation in the exchange rates.

R z9e wRAeR R ¥ FRPER I
0
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